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A–8638   

B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Third Semester 

Corporate Secretaryship 

PARTNERSHIP ACCOUNTING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by partnership accounting? 

 Tmk ÁoP PnUQ¯À  GßÓõÀ GßÚ? 

2. What is partnership deed? 

 Tmk ÁoP £zvμ®  GßÓõÀ GßÚ? 

3. What is meant by goodwill? 

 |Øö£¯º  GßÓõÀ GßÚ? 

4. What do you mean by Revaluation method? 

 ©Ö ©v¨¥mkU PnUS  GßÓõÀ GßÚ? 

5. What is gaining ratio? 

 Buõ¯ ÂQu®  GßÓõÀ GßÚ? 

6. What is amalgamation? 

 P»øÁ¯õUSuÀ  GßÓõÀ GßÚ? 

Sub. Code 
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7. What do you mean by insolvency of all partners? 

 AøÚzx TmhõÎPÎß ö|õi¨¦ {ø» £ØÔ }Âº AÔÁÚ 

¯õøÁ? 

8. What is realisation account? 

 wºÄ PnUQ¯À  GßÓõÀ GßÚ? 

9. What is piece-meal distribution? 

 xsknÄ £QºÄ ÂQu®  GßÓõÀ GßÚ? 

10. What is proportionate capital method? 

 ÂQuõ\õμ ‰»uÚ •øÓ  GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all questions. 

11. (a) From the following is the balance sheet of Mohan 
and Madan on 31st December 1990, after 
adjustment of profit for 1990 and drawings. 
 Rs. Rs.  Rs. 

Capital :             Mohan 40,000  Land  16,000

Madan 48,000 88,000 Buildings 72,000

Creditors  32,000 Other assets 48,000

P and L appropriate a/c  24,000 Madan's drawings 8,000 

  1,44,000  1,44,000

  During the year 1990: 

  (i) Profits were Rs. 40,000 

  (ii) Drawings of Mohan were Rs. 12,000 

  (iii) Interest is to be charged at 5% p.a. on opening 
capitals. Calculate interest on capitals on 
Mohan and Madan. 
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  31 i\®£º AßÖ PnUQh¨£mh ÷©õPß ©ØÖ® ©uÛß 

C¸¨¦{ø» SÔ¨¦ »õ£zøu \›ö\´u ¤ÓS 1990 US 

©ØÖ® Gk¨¦ EÒÍh[Q¯x. 

 Rs. Rs.   Rs. 

‰»uÚ®: ÷©õPß 40,000   {»® 16,000

                    ©uß 48,000 88,000  Pmih® 72,000

Phß  32,000  Cuμ ö\õzxUPÒ 48,000

»õ£ |mh    ©uß Gk¨¦ 8,000 

ö£õ¸zu¨£õk PnUQ¯À  24,000    

  1,44,000   1,44,000

  1990 B® Bsk PnUQß £i 

  (i) »õ£® C¸¢ux ¹. 40,000 

  (ii) ÷©õPÚõÀ GkUP¨£mhx ¹. 12,000 

  (iii) vÓ¨¦ ‰»uÚzvÀ C¸¢x 5% Á¸hzvØS Ámi 

PnUQh¨£mhx. ÷©õPß ©ØÖ® ©uÛß ‰»uÚ 

Ámi°øÚ PnUQkP. 

Or 

 (b) Explain the essential features of partnership. 

  Tmhõsø©°ß •UQ¯ A®\[PøÍ ÂÍUSP. 

12. (a) Explain the different methods of valuation of 

goodwill. 

  |Øö£¯º PnURmiß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

Or 
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 (b) Calculate the amount of goodwill at three year's  

purchase of last five years average profits. The 
profits were : I Year – Rs. 9,600 II Year –  
Rs. 14,400, III Year – Rs. 20,000. IV Year –Rs. 6,000 
V Year –Rs. 10,000. 

  ‰ßÖ Á¸h® öPõÒ•uÀ öPõshø©US |Øö£¯›øÚ 

PnUQk. CuÀ Ph¢u 5 Á¸hzvß \μõ\› »õ£®. 

»õ£[PÒ RÌÁ¸©õÖ. I Á¸h® ¹. 9,600, II Á¸h®---–  

¹. 14,400, III  Á¸h® – ¹. 20,000. IV  Á¸h®– 

¹.6,000, V Á¸h® ¹. 10,000. 

13. (a) X and Y are partners sharing profits in the ratio of 
3:2. They admit Z into partnership. Z paying a 
premium of Rs. 2,000 for 1/4th share of profit. The 
new ratio is 3:3:2. Goodwill account appears in the 
books at Rs. 2,000. It was decided that goodwill 
should continue to appear in books at Rs.1,600. 
Journalise. 

  X  ©ØÖ® Y C¸Á¸® TmhõÎPÒ CÁºPÒ 3:2 GßÓ  

ÂQuzvÀ »õ£zøu ¤›zx öPõshÚº. C¢{ø»°À Z 

¦vuõP AÝ©vUP£kQßÓõº. Z 1/4 [S £[PõP 

»õ£zvØS ¹. 2,000 zøu ¤Ÿª¯©P ö\¾zvÚõº. ¦v¯ 

£[S ÂQu® 3:3:2. |Øö£¯›À ¹. 2,000 ® ¦zuPzvÀ 

uμ¨£mkÒÍx. CuÚõÀ |Øö£¯›À ¦zuPzvÀ ¹. 1,600 

£vÄ ö\´¯ •iÄ ö\´¯¨£mhx. CuØPõÚ 

SÔ¨÷£miøÚz u¸P. 

Or 

 (b) Explain the objectives or reasons for amalgamation  
of firms. 

  P»øÁ¯õUSuÀ {ÖÁÚzvß Põμn® ©ØÖ®  

÷|õUP[PøÍ ÂÁ›. 
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14. (a) What are the salient features of Insolvency of a 

Partnership firm? 

  ö|õi¨¦ {ø» Tmhõsø© {ÖÁÚzvØPõÚ •UQ¯ 

A®\[PøÍ u¸P. 

Or 

 (b) Distinguish between revaluation account and 
realisation account. 

  ©Ö©v¨¥k ©ØÖ® wºÄ PnUS–÷ÁÖ£kzxP. 

15. (a) Explain in detail about proportionate capital 
method. 

  SÖS® ‰»uÚ •øÓø©°øÚ ÂÍUSP. 

Or 

 (b) Give the specimen for fluctuation capital method. 

  HØÓ CÓUP©õÚ ‰»uÚ •øÓø©°ß ©õv›°øÚ 

u¸P. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. A, B and C are partners in a firm sharing profits and 
losses in the ratio of 3:2:1 subject to the following : 

 (a) C's share of profits is guaranteed to be not less than 
Rs.24,000 p.a. 

 (b) Any excess amount to be paid to C  (i.e. the 
difference between the minimum guaranteed and 
his share of profit) is to be borne by B. 

  The profit for the year ending 31st December 1991 
amounts to Rs.1,20,000. You are required to show 
the distribution of profits.  
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 A, B ©ØÖ® C BQ÷¯õº J¸ {ÖÁÚzvß TmhõÎPÒ 

CÁºPÒ u[PÍx »õ£ |mh ÂQuzvøÚ 3:2:1 GßÓ •øÓ°À 

£Qº¢uÚº. 

 (A) C  ß »õ£ £[S ¹. 24,000 Á¸hzvØS GÚ EzvμÁõu® 

öPõkUP¨£mkÒÍx. 

 (B) HuõÁx AvP £n® C US öPõkUP B °h® C¸¢x 

öPõkUP (BuõÁx AÁ¸øh¯ »õ£ £[SUS® 

Cøh÷¯ SøÓ¢u EzvμÁõu©õP C¸¢uõÀ) 

  31 i\®£º 1991 AßÖ »õ£® ¹. 1,20,000 öμõUP® 

CuøÚ öPõsk »õ£ £QºÂøÚ u¸P. 

17. A and B are partners sharing profits in the ratio of 3:2 
with capitals Rs.12,000 and Rs. 5,400 respectively. C is 
admitted as a new partner for 1/3 share of profits with a 
capital of Rs.7,500. Adjust their capitals in the new profit 
sharing ratio. Give the necessary journal entries and 
prepare capital accounts. 

 A ©ØÖ® B  TmhõÎPÒ CÁºPÎß C»õ£ £QºÄ 3:2 BPÄ® 

‰»uÚ® ¹. 12,000 ©ØÖ® ¹. 5,400 •øÓ÷¯ C ¦v¯ 

TmhõÎ¯õP 1/3 »õ£ £[S® ‰»uÚ® ¹.7,500 Ehß 

÷\ºUP¨£mhõº. CuøÚ öPõsk ‰»uÚ ¦v¯ »õ£ £QºÄ 

ÂQu® PnUQmk CuØPõÚ SÔ¨÷£mk ©ØÖ® ‰»uÚ 

PnUQ¯ø» u¯õº ö\´P. 

18. The following is the balance sheet of X, Y and  Z on 
31.3.94. 

Liabilities Rs. Assets Rs. 
Capital A/c's  Furniture 40,000
X  50,000 Plant and machinery 20,000
Y 30,000 Stock 40,000
General reserve 30,000 Sundry debtors 20,000
Sundry creditors 40,000 Cash at bank 12,000
  Z's capital 18,000

 1,50,000  1,50,000
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 Z is insolvent but his estate pays Rs.4,000. It is decided to 

dissolve the partnership. 

 Sundry debtors : Rs.15,000, Furniture Rs.28,000. Stock 

Rs.32,000. Plant and machinery Rs.14,000. The 

dissolution expenses amounted to Rs.5,000. Give accounts 

to close the books of the firm if the capitals are 

fluctuating. 

 31.3.94 ØPõÚ C¸¨¦{ø» SÔ¨¤øÚ öPõsk X,Y ©ØÖ® Z 

uμ¨£mkÒÍÚ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚ® PnUS  AøÓP»ß 40,000

X  50,000 Bø» ©ØÖ® C¯¢vμ[PÒ 20,000

Y 30,000 \μUS 40,000

ö£õx C¸¨¦UPÒ 30,000 Phß ö£Ø÷Óõº 20,000

Phß ÁÇ[S£ÁºPÒ 40,000 Á[Q C¸¨¦ £n® 12,000

  Z's ‰»uÚ® 18,000

 1,50,000  1,50,000

 Z ö|izuÁº CÁ¸US ¹.4,000 Gì÷hm ö\¾zxQÓx. 

CuÚõÀ Tmhõsø©°øÚ Pø»UP •iÄ ö\´uÚº. Phß 

ö£Ø÷Óõº ¹.15,000. AøÓP»ß ¹. 28,000. \μUS ¹. 32,000, 

Bø» ©ØÖ® C¯¢vμ® ¹.14,000. 

 {ÖÁÚ Pø»¨¤ØPõÚ ö\»Ä ¹.5,000. {ÖÁÚ ¦zuPzvøÚ 

•izx øÁ¨£uØPõÚ PnUQøÚ ‰»uÚ® HØÓ CÓUP 

`Ì{ø»°À u¸P. 
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19. The balance sheet of A and B as on 31.3.2002 were as 

follows: 
Liabilities A  B  Assets A B 

 Rs.  Rs.   Rs. Rs.

Capitals : 15,000  20,000  Machinery 7,500 9,000

Creditors 10,000  5,000  Furniture – 3,500

Bank loan 5,000  –  Stock 10,000 5,000

Bills payable –  2,500  Debtors 5,000 10,000

     Buildings 7,500 –

 30,000  27,500   30,000 27,500

 They decided to amalgamate their business. The 
following revaluations were agreed. 

 (a) Machinery to be reduced by 10% 

 (b) Furniture of ‘B’ to be appreciated by 5% 

 (c) Stock to be depreciated by 10% 

 (d) Building to be appreciated by 20% 

  Pass the journal entries in the books of ‘A’ and ‘B’ 
and also prepare the amalgamated balance sheet. 

 31.3.2002 ß C¸¨¦ {ø» SÔ¨÷£miøÚ A ©ØÖ® B US 

uμ¨£mkÒÍx. 

ö£õÖ¨¦UPÒ A B  ö\õzxUPÒ A B 
 ¹. ¹.   ¹. ¹.

•u½kPÒ: 15,000 20,000  C¯¢vμ® 7,500 9,000
PhÜ¢÷uõº 10,000 5,000  AøÓP»ß – 3,500
Á[Q Phß 5,000 –  \μUS 10,000 5,000
ö\¾zu ÷Ási¯   PhÚõÎPÒ 5,000 10,000
Pmhn® – 2,500  Pmih® 7,500 –

 30,000 27,500   30,000 27,500

 {ÖÁÚ P»¨¤ØS •iÄ ö\´uÚº. ©Ö©v¨¥miØS J¨¦ 

öPõshÚº.  
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 (A) C¯¢vμ® 10% SøÓ¢ux 

 (B) AøÓP»ß ‘B’ ß Eøh¯x 5% E¯º¢ux 

 (C) \μUS 10% ÷u´©õÚ® öPõskÒÍx 

 (D) Pmih® 20% E¯º¢xÒÍx GÚ ©v¨¤h¨£mkÒÍx. 

  CuØPõÚ ]Ø÷Ómk £vÂøÚ²® A ©ØÖ® B US® 

©ØÖ® P»¨¤ØS ¤ß BÚ C¸¨¦ {ø» SÔ¨¤øÚ²® 

u¸P. 

20. A and B are in equal partnership. Their balance sheet  
stood as follows : 

Liabilities Rs. Assets Rs. 

Capital A: 600 Plant and machinery 1,475

Sundry creditors 3,900 Furniture 400

  Debtors 500

  Stock 625

  Bank 300

  B's capital 1,200

 4,500  4,500

 The assets were realised as follows : 

 Stock Rs.350, Furniture Rs.200, Debtors Rs.500 and 
plant and machinery Rs.700. The cost of collecting and 
distributing the estate amounted to Rs. 150. 

 A's private estate is not sufficient even to pay his private 
liabilities, where as in B's private estate, there is a 
surplus of Rs.50. 

 Prepare realisation a/c cash  a/c, creditors a/c, capital a/c's 
and the deficiency a/c of the partners. 
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 A  ©ØÖ® B \©{ø» TmhõÎPÒ CÁºPÎß C¸¨¦{ø» 

PnUS ¤ß¸©õÖ. 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
A ß •u½k : 600 Bø» ©ØÖ® C¯¢vμzvß 1,475
uÛ¯õº Phß 3,900 AøÓP»ß 400
  PhÚõÎPÒ 500
  \μUS 625
  Á[P 300
  B'ß •u½k 1,200

 4,500  4,500

 ©v¨¥k ö\´¯¨£mh ö\õzxUPÒ RÌÁ¸©õÖ.  

 \μUS ¹. 350, AøÓUP»ß ¹.200. PhÚõÎPÒ ¹.500 ©ØÖ® 

Bø» ©ØÖ® C¯¢vμ[PÒ ¹.700. ÷uõmh® ©v¨¥k ö\´x 

¤›zx öPõkUP¨£mh ö\»Ä ¹. 150. 

 A'ß uÛ¨£mh ÷uõmh® uÛ¯õº ö£õÖ¨¦PÐUS ö\¾zx® 

ÁøP°À CÀø». BÚõÀ B ß uÛ¯õº ÷uõmh ©v¨¦ 

ªøP¯õP ¹. 50 EÒÍx. CuøÚ öPõsk ö£Ó¨£mh 

PnUQ¯À, £n PnUQ¯À PhÜ¢÷uõº PnUQ¯À, ‰»uÚ 

PnUQ¯À ©ØÖ® TmhõÎPÎß SøÓ£õk PnUQ¯ø» u¸P. 

 

—————— 
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B.Com.(C.S.) DEGREE EXAMINATION,  
NOVEMBER 2019 

Fourth Semester 

Corporate Secretaryship  

BUSINESS STATISTICS  

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by statistics? 

 ¦ÒÎ ÂÁμ® £ØÔ }Âº AÔÁÚ ¯õøÁ? 

2. What is secondary data? 

 Cμshõ® {ø» uPÁÀ GßÓõÀ GßÚ? 

3. Define average. 

 \μõ\› Áøμ¯ÖUP. 

4. What do you mean by median? 

 Cøh{ø» £ØÔ }Âº AÔÁÚ ¯õøÁ? 

5. What is mean deviation? 

 \μõ\› Â»PÀ GßÓõÀ GßÚ? 

6. Define correlation. 

 öuõhº¦ Áøμ¯ÖUP. 

Sub. Code 
4BCS4C3 
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7. What is Regression coefficient? 

 ¤ßøÚhÄ SnP® GßÓõÀ GßÚ? 

8. What is time series? 

 ÷|μ öuõhº GßÓõÀ GßÚ? 

9. What do you mean by probability? 

 {PÌuPÄ £ØÔ }Âº AÔÁÚ ¯õøÁ? 

10. What is multiplication theorem? 

 ö£¸UPÀ ÷uØÓ® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions. 

11. (a) Write the statistical methods. 

   ¦ÒÎ ÂÁμ® •øÓPøÍ GÊxP. 

Or 

 (b) Explain the characteristics of a goods schedule. 

   |À» AmhÁøn°ß £s¦PøÍ ÂÍUSP. 

12. (a) The following table gives the marks obtained by 10 
students in an examination  

   
S.No 1 2 3 4 5 6 7 8 9 10

Marks 33 35 44 34 41 45 39 46 38 47

   Calculate the mean marks. 

   J¸ £›mø\°À 10 ©õnÁºPÒ Gkzu ©v¨ö£sPÒ 

R÷Ç öPõkUP¨£mkÒÍx 

Á›ø\ Gs 1 2 3 4 5 6 7 8 9 10
©v¨ö£s 33 35 44 34 41 45 39 46 38 47

   \μõ\› ©v¨ö£sPÒ PshÔP. 

Or 
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 (b) The salary per month of 8 persons working in a 
factory are given below: 

  2800,  2500, 3000, 2900, 3100, 1800, 2300 

   J¸ {ÖÁÚzvÀ £o ¦›²® 8 |£ºPÎß \®£Í® R÷Ç 

öPõkUP¨£mkÒÍx: 

   2800,  2500, 3000, 2900, 3100, 1800, 2300 

13. (a) Calculate quartile deviation and its co–efficient 
from the following data: 

   

Height in cm 28, 32, 18, 16, 42, 12, 39 

   R÷Ç öPõkUP¨£mh uPÁ¾US Põ»õsk Â»PÀ ©ØÖ® 

SnPzøu PnUQkP. 

  

E¯μ® ö\.« °À 28, 32, 18, 16, 42, 12, 39 

Or 

 (b) Calculate from the following data the mean 
deviation about the median  

  

X 10 25 30 36 40 44 50 55 60 

Y 3 8 14 18 27 23 22 17 8 

   \μõ\› Â»PÀ ©ØÖ® \μõ\›°øÚ PshÔP. 

  

X 10 25 30 36 40 44 50 55 60 

Y 3 8 14 18 27 23 22 17 8 
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14. (a) Explain the components of time series. 

   ÷|μ öuõh›ß TÖPøÍ ÂÁ›UP. 

Or 

 (b) Calculate 3 yearly moving averages of the 
production figures given below. 

   

Year 1995 1996 1997 1998 1999 2000 2001

Production  
 (in tonnes) 

 

224 

 

213

 

202 

 

215 

 

222 

 

244 

 

236

   ‰ßÖ Á¸hzvß EØ£zv GsPøÍ öPõsk ÷£õUS 

\μõ\›°øÚ PnUQkP. 

  

Á¸h® 1995 1996 1997 1998 1999 2000 2001

EØ£zv 

(hßÛÀ) 

 

224 

 

213

 

202 

 

215 

 

222 

 

244 

 

236

15. (a) One card is drawn from a standard pack of 52. What 
is the probability that is either a king or a queen? 

   J¸ ^mkUPmiÀ EÒÍ 52 ^miÀ Gk¨¤ß ÷£õx J¸ 

μõáõ AÀ»x J¸ μõo Á¸ÁuØPõÚ {PÌuPÄ GßÚ? 

Or 

 (b) A bag contains 6 red, 5 black and 3 green balls what 
is the probability of getting a red or green ball at 
random is a single draw? 

   J¸ ø£°À 6 ]Á¨¦, 5 P¸¨¦ ©ØÖ® 3 £aø\ {Ó 

£¢xPÒ EÒÍÚ ^μØÓ J¸ Gk¨¤ß ÷£õx, ]P¨¦ 

AÀ»x £aø\ {Ó £¢x Á¸ÁuØPõÚ {PÌuPÄ GßÚ? 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain methods of sampling. 

 ©õv›°ß •øÓPøÍ ÂÁ›UP. 

17. Find out the median and mode from the data given below. 
 

Marks less than 20 40 60 80 100 120 140

No.of students 7 12 20 35 42 48 52 

 RÌPsh uμÄPÎ¼¸¢x \μõ\› «uõÚ \μõ\›°øÚ u¯õº 

ö\´P. 

CuØS SøÓÁõÚ 

©v¨ö£s 

20 40 60 80 100 120 140

©õnÁºPÎß 

GsoUøP 

7 12 20 35 42 48 52 

18. The life expectancy (in months) of 212 catla fishes are 
given below. Calculate co–efficient of mean deviation 
from mean. 

  

(in months)  
Life 
expectancy 

 
0-10 

 
10-20 

 
20-30 

 
30-40 

 
40-50

 
50-60

 
60-70

 
70-80

No.of fishes 20 25 32 40 42 35 10 8 

 J¸ ©õuzvÀ 212 PmÍõ «ßPÎß ÁõÌ|õÒ Gvº£õº¨¦ R÷Ç 

öPõkUP¨£mkÒÍx. Cuß öuõhº¤Ýøh¯ \μõ\› Â»Pø» 

\μõ\›°¼¸¢x PnUQkP. 

B²Ò 

Gvº¨£õº¨¦ 

(©õuzvÀ) 

 
0-10 

 
10-20 

 
20-30 

 
30-40 

 
40-50

 
50-60

 
60-70

 
70-80

«ßPÎß 

GsoUøP 

20 25 32 40 42 35 10 8 
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19. Compute the trend value by the method of least square 
from the data given below. Also estimate the expenditure 
for the year 2005 

Year 1995 1996 1997 1998 1999 2000

Expenditure 
(Rs. in lakhs) 

 

50 

 

40 

 

60 

 

65 

 

75 

 

80 

 R÷Ç öPõkUP¨£mkÒÍ uPÁ¾US SøÓ¢u \xμzvß ‰»® 

÷£õUS ©v¨¤øÚ PnUQkP ©ØÖ® Cuμ ö\»ÃÚ[PøÍ²® 

©v¨¤kP Á¸® 2005  ØS 

Á¸h® 1995 1996 1997 1998 1999 2000

ö\»ÃÚ[PÒ 

(»m\zvÀ) 

 

50 

 

40 

 

60 

 

65 

 

75 

 

80 

20. A bad contains 6 red and 9 black balls. Two draws are 
made. Find the probability that the first draw will give 4 
red and second draw gives 3 black balls. When 

 (a) balls are replaced after the first draw 

 (b) balls are not replaced. 

 J¸ ø£°À 6 ]Á¨¦ ©ØÖ® 9 P¸¨¦ £¢xPÒ EÒÍÚ. Cμsk 

Gk¨¦PÎß ÷£õx •uÀ Gk¨¤ß ÷£õx 4 ]Á¨¦ £¢xPÐ® 

CμshõÁx Gk¨¤ß ÷£õx 3 P¸¨¦ £¢xPÐ® Áμ ÷Ási¯ 

{PÌuPÂøÚ PshÔP. 

 (A) •u¼À Gkzu £¢xPÒ EÒ÷Í v¸®£ ÷£õmh ÷£õx 

 (B) £¢xPÒ ÷£õhõu ÷£õx 

 
———————— 



 

  

Ws17

A–8644   

B.Com.(C.S) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Corporate secretaryship 

COMMERCIAL LAW 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is acceptance? 

 •øÚ HØ¦ Gß£x ¯õx? 

2. What is implied contract? 

 öuõUQ¯ J¨£¢u® Gß£x ¯õx? 

3. What is fraud? 

 ÷©õ\i Gß£x ¯õx? 

4. What is undue influence? 

 uPõ{ø» ÁØ¦ÖzuÀ Gß£x ¯õx? 

5. What is special contract? 

 uÛzußø© J¨£¢u® Gß£x ¯õx? 

6. What is appropriation? 

 JxURk ö\´uÀ Gß£x ¯õx? 

Sub. Code 
4BCS5C1 
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7. What is misrepresentation? 

 v›zxUTÓÀ Gß£x ¯õx? 

8. Who is an agent? 

 •PÁº Gß£Áº ¯õº? 

9. What is bailment? 

 J¨£øhÄ GßÓõÀ GßÚ? 

10. What is continuing guarantee? 

 öuõhº ö£õÖ¨¦Öv GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions. 

11. (a) What is an offer? State the rules relating to an offer. 

   •øÚÄ Gß£x ¯õx? •øÚÂØPõÚ ÂvPøÍ U TÖP. 

Or 

 (b) What are executed and executory contracts? 
Explain with examples. 

   ö\¯À£kzu¨£mh ©ØÖ® ö\¯À£kzu¨£h ÷Ási¯ 

J¨£¢uu[PøÍ GkzxUPõmkhß ÂÍUSP. 

12. (a) What are the requisites of a valid tender? 

   ö\À»zuUP J¨£¢u¨ ¦ÒÎ¯À Ch®ö£Ó ÷Ási¯ 

\μzxUPÒ ¯õøÁ? 

Or 

 (b) What is capacity to contract? When does incapacity 
to contract arise? 

   J¨£¢uvØPõÚ uSv Gß£x ¯õx? G¨ö£õÊx J¸Áº 

J¨£¢uzvÀ Dk£hz uSv¯ØÓÁÓõQÓõº? 
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13. (a) What remedies an injured party can get on damages 
under breach of contract? 

   J¨£¢u «ÖøP°ß RÌ CÇ¨¥miß «x 

CÇ¨¤ØSÒÍõÚÁ¸UPõÚ wºÄPÒ ¯õøÁ? 

Or 

 (b) What are the rights and duties of an agent? 

   •PÁ›ß E›ø© ©ØÖ® Phø©PøÍU SÔ¨¤kP. 

14. (a) What are the rights of the surety? 

   ¤øn¯õÍ›ß E›ø©PÒ ¯õøÁ? 

Or 

 (b) Distinguish between contract of indemnity and 
contract of guarantee. 

   DmkÖv J¨£¢u[PÒ ©ØÖ® ö£õÖ¨¦Öv 

J¨£¢u[PøÍ ÷ÁÖ£kzxP. 

15. (a) What are the different kinds of damages? 

   CÇ¨¥kPÎß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Distinguish bailment and pledge. 

   J¨£øhÄ ©ØÖ® Ah©õÚ® ÷ÁÖ£kzxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are quasi contracts? Enumerate the instances of 
quasi–contracts laid down under the Act.  

J¨£¢u¨ ÷£õÀÄ Gß£x ¯õx? \mhzvÀ SÔ¨¤h¨£mkÒÍ 

J¨£¢u¨ ÷£õÀÄ {PÌÄPøÍU SÔ¨¤kP. 
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17. What are the effects of contract entered into with a 
minor? 

CÍÁ¸hß ö\´x öPõsh J¨£¢uzvß uõUP[PÒ ¯õøÁ? 

18. Describe the methods of performance of a contract. 

 J¨£¢u {øÓ÷ÁØÖ •øÓPøÍ ÂÍUSP. 

19. Explain different methods of creation of agency. 

 £À÷ÁÖ •PÁõsø© E¸ÁõUP •øÓPøÍ ÂÁ›UP. 

20. What are the rights, duties and liabilities of common 
carriers? 

\μU÷PØÔ°ß E›ø©PÒ, Phø©PÒ ©ØÖ® ö£õÖ¨¦PÒ 

¯õøÁ? 

 

 

 
———————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Corporate Secretaryship 

CORPORATE ACCOUNTING — I 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Internal Reconstruction? 

 {ÖÁÚzvß EÒÍP ©Ö^μø©¨¦ GßÓõÀ GßÚ? 

2. Write short note on Capital Reduction. 

 ‰»uÚ SøÓ¨¦ £ØÔ ]Ö SÔ¨ø£ GÊxP. 

3. Write short note on Underwriting. 

 GÊzxÖv £ØÔ ]Ö SÔ¨ø£ GÊxP. 

4. What is meant by Realisation a/c? 

 »õ£Pμ©õÚ PnUSPÒ GßÓõÀ GßÚ? 

5. How the breakup value of each kind of share is 
calculated? 

 JÆöÁõ¸ ÁøP¯õÚ £[SPÎß Eøh¢u ©v¨¦ GÆÁõÖ 

PnUQh¨£kQÓx? 

Sub. Code 
4BCS5C2 
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6. What is capital reserve? 

 ‰»uÚ C¸¨¦ GßÓõÀ GßÚ? 

7. Write about calculation of purchase consideration. 

 {ÖÁÚzvß Âø» AÍÄ PnURk £ØÔ GÊuÄ®. 

8. What is called time ratio? 

 ÷|μ® ÂQu® GßÓõÀ GßÚ? 

9. How do you treat pre and post incorporation profit? 

 {ÖÁÚzvß •ß GÆÁõÖ C»õ£® DmkuÀ ©ØÖ® 

CkøP°h¨£mh C»õ£® PnUQh¨£mhx? 

10. What is meant by Net method of valuing shares? 

 £[SPøÍ ©v¨¤k® {Pμ •øÓ°ß ö£õ¸Ò ¯õx? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain the capitalisation method in valuation of 
goodwill. 

  {ÖÁÚzvß |À©v¨¥miÀ ‰»uÚ©õUPÀ •øÓø¯ 

ÂÍUS[PÒ. 

Or 

 (b) Compare Absorption and Reconstruction. 

  {ÖÁÚ[PÒ øP¯P¨£kzxuÀ ©ØÖ® ©Ö^μø©¨¦ 

BQ¯ÁØøÓ ÷ÁÖ£kzx. 

12. (a) On 1st October 2016, Birla Ltd. issued 20,000  
15% debentures of Rs. 100 each (interest payable on 
30th September and 31st March). The company is 
allowed to purchase own debentures which   may be  
cancelled  or kept or reissued at the company's 
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option. The company made the following purchases 
in the open market. 

  On 31st August 2017, 2000 debentures @ Rs. 98  
ex-interest. 

          On 31st December 2017, 1000 debentures @ Rs. 97 
cum-interest. 

  Give journal entries to record the transactions. 

  AU÷hõ£º 1, 2016 AßÖ ¤º»õ ¼ªöhm ¹ 20,000, 

15%  JÆöÁõ¸ Phß £zvμ Âø» ¹ 100 (ö\¨h®£º 30 

©ØÖ® ©õºa 31 AßÖ ö\¾zu¨£k® Ámi)  
{ÖÁÚzvß ö\õ¢u Phß £zvμ[PøÍ Áõ[SÁuØS 

AÝ©v¨£kQÓx. 

Cx {ÖÁÚzvß Â¸¨£zvÀ μzx ö\´¯¨£h»õ® 

AÀ»x øÁzv¸UP»õ® AÀ»x ©ÖUP¨£k®. 

{ÖÁÚ® vÓ¢u \¢øu°À ¤ßÁ¸® Âø» AÍÄ 

BPìm 31, 2017 AßÖ, 2000 Phß£zvμ[PÒ ¹. 98 

•ßÚõÒ Ámi. 

  i\®£º 31 B® ÷uv, 2017 – 1000 Phß £zvμ[PÒ ¹. 

97 Ehß Ámi. 

  £›©õØÓ[PøÍ £vÄ ö\´¯ PnUQ¯À EÒÏkPøÍ 

GÊx[PÒ. 

Or 

 (b) Differentiate between ex-interest and cum-interest. 

  •ß Ámi ©ØÖ® Tmk ÁmiUS Cøh÷¯ EÒÍ 

÷ÁÖ£õmøh GÊuÄ®. 

13. (a) From the following particulars, find out the value of 
goodwill as per annuity method : 

  Capital employed Rs. 60,00,000. 

  Normal rate of return — 20%. 

  Present value of Re. 1 for 5 years at 10% is 3.78. 
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  Profit for 5 years 2007 – Rs. 6,00,000; 2008 –  

Rs. 6,40,000; 2009 – Rs. 6,80,000; 2010 – Rs. 
7,20,000; 2011 – Rs. 7,60,000. 

  Non-recurring income – Rs. 20,000 and Non-
recurring expenses Rs. 15,000. 

  ¤ßÁ¸® ÂÁμ[PÎhª¸¢x, Á¸hõ¢vμ •øÓUS 

HØ£ {ÖÁÚzvß |À©v¨ø£U PshÔ: 

  ‰»uÚ® ¹. 60,000,000. 

  C¯À£õÚ Á¸Áõ´ Ãu® - 20% 

  uØ÷£õøu¯ ©v¨¦ ¹. 1US 5 BskPÎÀ 10% Gß£x 

3.78. 

  5 BskPÐUPõÚ C»õ£[PÒ: 2007 - ¹. 6,00,000; 

2008 --- ¹. 6,40,000; 2009 ---- ¹. 6,80,000; 2010 --  
¹. 7,20,000; 2011-  ¹. 7,60,000. 

  öuõhºa]¯ØÓ Á¸Áõ´ - ¹. 20,000 ©ØÖ® 

öuõhºa]¯ØÓ ö\»ÄPÒ ¹. 15,0000. 

Or 

 (b) Explain the nature of goodwill. 

  |À©v¨¤ß ußø©ø¯ ÂÍUSP. 

14. (a) Sharma Limited invited applications for 1,00,000 
shares of Rs. 100 each at a discount of 5% payable 
as follows : 

  On application – Rs. 25; On allotment – Rs, 35 and 
On call – Rs. 35. 

  The applications were received for 80,000 shares 
and all of these were accepted. All money due were 
received except the call money on 4000 shares 
which were forfeited. 1500 shares were reissued  
Rs. 90 per share as fully paid.  Pass journal entries  
in the books of the company. 
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  åº©õ ¼ªöhm 1,00,000 £[SPøÍ 5% ö\¾zu¨£h 

uÒÐ£i Âø»°À J¸ £[S ¹. 100 Ãu® ¥ßÁ¸©õÖ 

Âsn¨£[PÒ Áμ÷ÁØP¨£kQßÓÚ. 

  Âsn¨£® - ¹. 25; JxURmiÀ - ¹. 35 ©ØÖ® 

AøÇ¨¤À -  ¹. 35. 

  Âsn¨£[PÒ 80,000 £[SPÐUS ö£Ó¨£mhÚ 

©ØÖ® CøÁ AøÚzx® HØÖUöPõÒÍ¨£mhÚ. 4000 

£[SPÐUPõÚ AøÇUP¨£mh £nzøuz uÂºzx 

AøÚzx £n•® ö£Ó¨£mhÚ. CvÀ 1500 £[SPÒ 

«sk® ¹. 90 ¹£õ´US ÂØP¨£mhx. {ÖÁÚzvß 

PnUQÀ SÔ¨÷£kPøÍ GÊxP. 

Or 

 (b) Explain the procedure For issue of debentures in a 

company. 

  J¸ {ÖÁÚzvÀ Phß £zvμ[PøÍ öÁÎ°kÁuØPõÚ 

|øh•øÓPøÍ ÂÍUSP. 

15. (a) Explain about Yield method of valuation of a share. 

  Á¸Áõ´ •øÓPÎÀ £[SPÎß ©v¨¥k £ØÔ 

ÂÍUSP. 

     Or 

 (b) Write short note on : 

  (i) Issue of share at premium and  

  (ii) Issue of share at Discount. 

  ]Ö SÔ¨¦ u¸P: 

  (A) •øÚ©zvÀ £[S öÁÎ±k 

  (B) uÒÐ£i°À £[S öÁÎ±k 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Robert & Co Ltd. issues 20,000 shares of Rs.10/- each 
payable Rs. 3 on application, Rs. 2 on allotment, Rs. 2.50 
on First call and the balance on final call. 

 All shares were subscribed and allotted. Calls were made 
in due course but the first call money on 1000 shares and 
final call money on 1500 shares were not yet received.  

 Pass journal entries. 

 μõ£ºm Áøμ¯Ö {Ö©® £[S JßÖ ¹.10 Ãu® 20,000 

£[SPøÍ ¤ßÁ¸©õÖ ö\¾zuzuUP Ásn® öÁÎ°mhx. 

 Âsn¨£zvß «x ¹. 3 

 KxURk «x ¹. 2 

 •u»õÁx AøÇ¨¤ß÷£õx ¹. 2.50  ©ØÖ® Gg]¯z öuõøP 

 CÖv AøÇ¨¤ß÷£õx.  £[SPÒ AøÚzx® J¨£¨£mk 

JxURk ö\´¯¨£mhÚ. Cμsk AøÇ¨¦PÐ® •øÓ¯õP 

ÂkUP¨£mhÚ. 1000 £[SPÒ «x •u»õÁx AøÇ¨¦z 

öuõøP²® 1500 £[SPÒ «x CÖv AøÇ¨¦z öuõøP²® 

ö£Ó¨£hÂÀø». SÔ¨÷£mk¨ £vÄPøÍz u¸P. 

17. Explain the different methods of valuation of shares. 

 £[SPÎß £À÷ÁÖ ©v¨¥mk •øÓPøÍ ÂÍUSP. 

18. Explain various kinds of Debentures. 

 PhÜmk¨ £zvμ[PÎß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

19. A firm's net profits during the last three years were  
Rs. 90,000 Rs. 1,00,000 and Rs. 1,10,000. The capital 
employed in the firm is Rs. 3,00,000. A normal return on 
the capital is 10%. Calculate the value of goodwill on the 
basis of two years' purchase of super profit. 

 {ÖÁÚzvß Ph¢u ‰ßÖ BskPÒ {Pμ C»õ£[PÒ ¹. 

90,000, ¹. 1,00,000. ©ØÖ® ¹. 1,10,000 BS®. {ÖÁÚzvß 

£¯ß£kzu¨£mh •uÀ ¹. 3,00,000. \õuõμn C»õ£® •uÀ 

«x 10% BS®. E¯º C»õ£zvß Cμsk Bsk öPõÒ•uÀ 

GßÓ Ai¨£øh°À |Øö£¯›ß ©v¨ø£ PnUQkP. 
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20. From the following Trial Balance of M/s. Ram & Sons, 

prepare trading and profit and loss account for the year 
ending on 31st March 2002 and the balance sheet as on 
the date : 

Trial Balance as on 31st March 2002 

Particulars 
Debit
Rs.   

Credit
Rs.  

Opening stock (1.4.2001) 5,000  —

Purchases 16,750  —

Discount allowed 1,300  —

Wages 6,500  —

Sales —  30,000

Salaries 2,000  —

Travelling expenses 400  —

Commission 425  —

Carriage inward 275  —

Administration expenses 105  —

Trade expenses 600  —

Interest 250  —

Building 5,000  —

Furniture 200  —

Debtors 4,250  —

Creditors —  2,100

Capital —  13,000

Cash 2,045  —

 45,100  45,100

 Stock on 31st March 2002 was Rs. 6,000. 

 RÌUPõq® μõ® \ßì {ÖÁÚzvß C¸¨£õ´Â¼¸¢x 2002, 

©õºa 31 B® |õ÷Íõk •iÁøh²® BskUS›¯ Â¯õ£õμ, 

C»õ£, |mhU PnUøP²® A¢|õøÍ¯ C¸¨¦ 

{ø»USÔ¨ø£²® u¯õ›UP. 
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 2002, ©õºa 31 B® |õøÍ¯ C¸¨£õ´Ä 

ÂÁμ® 
£ØÖ ¹

 
 

ÁμÄ ¹

  

öuõhUPa \μUQ¸¨¦ (1.4.2001) 5,000  —

öPõÒ•uÀ 16,750  —

uÒÐ£i AÎzux 1,300  —

T¼ 6,500  —

ÂØ£øÚ —  30,000

\®£Í® 2,000  —

÷£õUSÁμzxa ö\»Ä 400  —

PÈÄ 425  —

EÒyUSU T¼ 275  —

{ºÁõPa ö\»ÄPÒ 105  —

Â¯õ£õμa ö\»ÄPÒ 600  —

Ámi 250  —

Pmhh® 5,000  —

AøÓP»ß 200  —

PhÚõÎPÒ 4,250  —

PhÜ¢÷uõº —  2,100

•uÀ —  13,000

öμõUP® 2,045  —

 45,100  45,100

 31, ©õºa 2002UPõÚ \μUQ¸¨¦ ¹. 6000. 

  
———————— 
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B.Com(CS) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Corporate Secretaryship 

ECONOMIC LAWS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. When was New industrial policy announced? Why?  

 ¦v¯ öuõÈÀxøÓ öPõÒøÍ G¨÷£õx öuõh[P¨£mhx? 

Hß? 

2. What is advisory council? 

 B÷»õ\øÚU SÊ GßÓõÀ GßÚ? 

3. What are anti competitive agreements? 

 Gvº¨¦ ÷£õmi J¨£¢u[PÒ GßÓõÀ GßÚ? 

4. Write a Short note on competition Act, 2002. 

 ÷£õmi \mh®, 2002– ]Ö SÔ¨¦ GÊxP. 

5. What are the objectives of FEMA, 1999? 

 FEMA 1999–Cß ÷|õUP[PøÍ GÊxP. 

6. What is foreign Exchange. 

 A¢{¯ \»õÁo Gß£x GßÚ? 

Sub. Code 
4BCS5C3 
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7. What is a market price? 

 \¢øu Âø» Gß£x GßÚ? 

8. Who is a consumer according to consumer protection Act, 
1986? 

 ~Pº÷Áõº £õxPõ¨¦ \mh®, 1986–Cß £i ~Pº÷Áõº Gß£Áº 

¯õÁº? 

9. What is abaliment of pollution?  

 ©õ_ uo¨¦ Gß£x GßÚ? 

10. What is noise pollution is environment? 

 J¼ ©õ_ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all the questions choosing either (a) or (b) 

11. (a) Explain the objectives of Industrial Policy. 

  öuõÈxøÓ öPõÒøP°ß ÷|õUP[PøÍ ÂÁ›. 

Or 

 (b) Distinguish between small and large scale 
industries. 

  ]Ö öuõÈÀ, ö£›¯ AÍÂ»õÚ öuõÈÀ – ÷ÁÖ£kzx. 

12. (a) "The competition Act, 2002 does not prohit 
dominance but the abuse of dominant position" 
Discuss. 

  "÷£õmi \mh®, 2002, ÷©»õvUPzøu uøh 

ö\´¯ÂÀø» BÚõÀ BvUP xè¤μ÷¯õPzøu÷¯ 

uøh ö\´QÓx".ÂÁõv. 

Or 

 (b) List out the benefits of competition to consumers 
and the government.  

  öuõÈÀ ÷£õmi°ÚõÀ ~Pº÷Áõ¸US®, Aμ]ØS® 

QøhUS® |ßø©PøÍ Á›ø\¨£kzx. 



A–8646 

  

  3

Wk 8
13. (a) Explain the features of FEMA. 

  FEMA– Âß £s¦PøÍ ÂÍUSP. 

Or 

 (b) What are the controls imposed by foreign Exchange? 

  A¢{¯ ö\»Áõo «x Aμ_ Âvzv¸US® 

Pmk¨£õkPÒ ¯õøÁ? ÂÁ›. 

14. (a) Describe the objectives of consumer Protection Act, 
1986. 

  ~Pº÷Áõº £õxPõ¨¦ \mh® 1986–Cß ÷|õUP[PøÍ 

ÂÍUSP. 

Or 

 (b) How can a consumer register complaint? What are 
the particulars that should be furnished along with 
the complaint? 

  ~Pº÷Áõº GÆÁõÖ ¦Põº AÎUP»õ®? ¦Põ¸hß 

CønUP ÷Ási¯øÁPÒ ¯õøÁ? 

15. (a) Explain the objectives of Environment Protection 
Act, 1986. 

  _ØÖa`ÇÀ \mh®, 1986–Cß ÷|õUP[PøÍ ÂÁ›. 

Or 

 (b) Explain the prevention and control measures of 
environmental pollution. 

  _ØÖ `ÇÀ ©õ_ uk¨¦ ©ØÖ® Pmk¨£õk •øÓPøÍ 

ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the registration and licensing procedures of 
industries. 

öuõÈÀ £vÄ ö\´¯ ©ØÖ® E›©® ö£Ó ÁÈ•øÓø¯ ÂÁ›. 
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17. Discuss the powers and functions of competition 

commission of India. 

 C¢v¯ ÷£õmi BønUSÊÂß AvPõμ[PøÍ²® 

£oPøÍ²® ÂÁõv. 

18. What is FEMA violation? What are the penalties 
applicable for the parties committed offence? 

 FEMA–Âß £i «ÖuÀ GßÓõÀ GßÚ? AÁºPÎß 

SØÓzvØPõÚ A£μõu[PÒ ¯õøÁ? 

19. Explain the consumer grievances redressal mechanism. 

 ~Pº÷Áõº SøÓPøÍº wºzuÀ •øÓø¯ ÂÁ›. 

20. Explain the functions and powers of officers under 
Environment Protection Act, 1986. 

 _ØÖ `ÇÀ \mh® 1986–ß RÌ AvPõ›°ß £oPøÍ²® 

AvPõμzøu²® ÂÁ›. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Corporate Secretaryship  

Elective — DIRECT TAXES 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. State any two objectives of Taxation. 

 Á›Âv¨¤ØPõÚ Põμn[PÎÀ H÷uÝ® CμsiøÚU TÖ. 

2. What is the basic difference between direct and indirect 
Tax? 

 ÷|μi ©ØÖ® ©øÓ•P Á›Âv¨¤ØQøh÷¯¯õÚ Ai¨£øh 

Âzv¯õ\zøu TÖP.  

3. Mention the different forms of Salary. 

 \®£Í Aø©¨¤ß TÖPøÍ £mi¯¼kP. 

4. Define Annual Value. 

 Bsk ©v¨¦ Gß£øu Áøμ¯Ö. 

5. What is revenue expenses? 

 Á¸Áõ°Ú ö\»ÄPÒ GßÓõÀ GßÚ? 

Sub. Code 
4BCSE1A 
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6. What is self generated Asset? 

 _¯ E¸ÁõUPa ö\õzx GßÓõÀ GßÚ? 

7. List out what is not included in dividends? 

 £[Põuõ¯zvÀ ÷\μõuÁØøÓ £mi¯¼kP. 

8. State any two examples for deemed income. 

 Á¸Áõ¯õP P¸u¨£k£ÁØÔÀ H÷uÝ® C¸ Euõμn[PøÍU 

TÖ. 

9. What is Advance payment of Tax? 

 •ßTmi ö\¾zx® Á› GßÓõÀ GßÚ? 

10. What is reassessment? 

 ©Ö©v¨¥k GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain the characteristics of Salary. 

  \®£Ízvß £s¦PøÍ ÂÍUSP. 

Or 

 (b)  A doctor who is an Indian Citizen left India to 
France on 6th July 2018, to take up an employment 
there. He was never been out of Indian in the past. 
Determine his residential Status for the previous 
year 2018-19. 

  C¢v¯ ¤μøá¯õÚ J¸ ©¸zxÁº C¢v¯õøÁ Âmk 

÷Áø» Áõ´¨¤ØPõP áúø» 2018, 6¢÷uv ¤μõßì 

ö\ßÓõº. AuØS •ß AÁº J¸÷£õx® öÁÎ|õk 

ö\ßÓvÀø». Ph¢u BsiØPõÚ, Si°¸¨¦ 

{ø»ø¯U PnUQkP. 
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12. (a) Explain the various types of provident fund. 

Á¸[Põ» øÁ¨¦ {v°ß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

Or 

 (b) Mr. N. Started the construction of a house on 

1.6.2017 and took a loan of Rs.3,00,000 @ 15% p.a. 

on 1.7.2017. Construction was completed on 

30.11.2018, and was self occupied from 1.12.2018. 

Compute his income under the head income from 

House Property for the A.Y.2019-2020. 

  v¸.Gß. Gß£Áº 1.6.2017 AßÖ Ãk Pmhz xÁ[Q, 

AuØPõP ¹.3,00,000 @ 15% Bsk Ámi 1.7.2017 

AßÖ Áõ[QÚõº. 30.11.2018À Pmk©õÚ® 

•iÁøh¯÷Á, 1.12.2018À Si÷¯ÔÚõº. ‘Ãmka 

ö\õzv¼¸¢x Á¸©õÚ®’ GßÓ Ai¨£øh°À AÁμx 

Ãmk Á¸©õÚzøu (2019–2020 ©v¨¥mk 

BsiØPõÚ) PnUQkP. 

13. (a) Write short note on excepted capital gains. 

  ‰»uÚ Buõ¯®  Â»US £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b)  Calculate Income from other sources 

   (i) Rs.25,000 interest from Post Office savings 

bank a/c. 

   (ii) Rs.25,000 from 10% debentures of listed tea 

company. 
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   (iii) Rs.4,000 interest received from National 

Development Bonds. 

   (iv) Rs.2,500 received as interest from the 

debentures of a cooperative society. 

   (v) 10% Tax free debentures of Chennai 

Municipal Corporation Rs.25,000. 

  ©ØÓ Buõμ Á¸©õÚzøu PnUQk. 

  (i) ¹.25,000 u£õÀ xøÓ ÷\ª¨¦ Á[QU 

PnUQ¼¸¢x Ámi. 

  (ii) £mi¯¼mh ÷u}º {ÖÁÚzvÝøh¯ 10% 

PhÜmk¨ £zvμ[PÎ¼¸¢x ¹.25,000. 

  (iii) ÷u]¯ ÁÍºa] £zvμ[PÎ¼¸¢x Ámi ¹,4,000. 

  (iv) TmkÓÄ \[P[PÎß PhÜmk¨ 

£zvμ[PÎ¼¸¢x ö£Ó¨£mh Ámi ¹.2,500. 

  (v) ö\ßøÚ |Pμõm] ìuõ£Ú Á› Â»UP¨£mh 10% 

PhÜmk¨ £zvμzvÀ C¸¢x ¹.25,000.  

14. (a) Compute the taxable income for the Assessment 

year of  2019–20 Mr. Prem. 

  Income from Business  Rs.20,000 

  Profit from Speculation Business Rs.5,000 

  Long term Capital Gain  Rs.30,000 

  Short term Capital Loss  Rs.7,000 

  Current Year depreciation Rs.1,000 
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  v¸. ¤÷μ® Gß£Áμx 2019–20 ©v¨¥mk 

BsiØPõÚ Á› Âv¨¤ØSÒÍõÚ Á¸Áõø¯U 

PnUQkP. 

  Â¯õ£õμ Á¸©õÚ® ¹.20,000. 

  FP Â¯õ£õμ »õ£® ¹.5,000. 

  }shPõ» ‰»uÚ »õ£® ¹.30,000. 

  SÖQ¯Põ»  ‰»uÚ |mh® ¹.7,000. 

  |h¨¦ BsiØPõÚ ÷u´©õÚ® ¹.1,000.   

Or 

 (b)  Calculate deduction U/s 80C 

   (i) Contribution to own life policy (sum assured   
 Rs.75,000)    Rs.14,500 

   (ii) Contribution to Life of her husband (sum 
assured Rs.45,000)  Rs.8,000 

   (iii) Subscription of NSC – VIII issue Rs.15,000 

   (iv) Contribution to PPF Rs.25,000 

   (v) Repayment of housing loan Rs.30,000 

   (vi) Investment in infrastructure bonds Rs.40,000 

   80C ¤›Âß RÌ PnUQkP. 

  (i) ö\õ¢u B²Ò Põ¨¥mk £õ¼]US £[PÎ¨¦ 

(EÖvz öuõøP ¹.75,000) ¹.14,500 

  (ii) PnÁμx B²Ò Põ¨¥mk £õ¼]US £[PÎ¨¦ 

(EÖvz öuõøPUS ¹.45,000) ¹.8,000 
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  (iii) ÷u]¯ ÷\ª¨¦ £zvμ® VIII öÁÎ±k  

   – øÁ¨¦   ¹.15,000 

  (iv) Á¸[Põ» øÁ¨¦ {vUS £[PÎ¨¦ ¹.25,000 

  (v) ÃmkU Phß v¸¨¤ ö\¾zv¯x ¹.30,000 

  (vi) Pmhø©¨¦ £zvμ[PÎÀ •u½k ¹.40,000  

15. (a) Explain the functions and powers of Income Tax 

Officers. 

Á¸©õÚ Á› AvPõ›PÎß £oPÒ ©ØÖ® 

AvPõμ[PøÍ ÂÍUSP. 

Or 

 (b)  State the types of filing of return. 

  Á¸©õÚÁ› uõUPÀ •øÓPøÍ ÂÁ›.  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Mr. Naren, a Chartered Accountant is living in Lucknow 
is carrying on his profession there. He supplied the 
following particulars. Compute his total income from the 
assessment year 2019-20. 

 (a) Professional gain   Rs.52,400 

 (b) Rent received from house at Bombay Rs.18,000 p.a. 

 (c) Municipal Taxes   Rs.1,500 p.a. 

 (d) Long Term Capital gain  Rs.10,000 

 (e) Part time Salary as Ledures in  

  Taxation law   Rs.25,000 
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 (f) Rent paid at Lucknow  Rs.2,000 p.m. 

 (g) Interest on Govt. Securities Rs.10,000 

  He deposited Rs.17,000 in PPF account. 

 »U÷ÚõÂÀ Á]US® £mh¯U PnUPõÍº v¸.|÷μß Gß£Áº 

2019–20 RÌUPõq® Â£μ[PøÍz u¸QÓõº. AÁμx ö©õzu 

Á¸©õÚzøu ©v¨¥mk BsiØS PnUQkP. 

 (A) öuõÈÀ ‰»® Á¸©õÚ®   ¹.52,400  

 (B) £õ®÷£ Ãmi¼¸¢x ÁõhøP ö£ØÓx¹.18,000 (B.Á.) 

 (C) |Pμõm] Á›   1,500 (BskUS)       

(D) }shPõ» ‰»uÚ »õ£®  10,000  

(E) Â›Äøμ¯õÍº \®£Í®  25,000 

(F) »U÷Úõ ÃmiØS ÁõhøP ö\¾zv¯x  

      2,000(©õu® JßÖUS) 

(G) Aμ\õ[P £zvμ[PÎ¼¸¢x Ámi 10,000 

Á¸[Põ» øÁ¨¦ {v°À öh£õ]m ö\´ux ¹.17,000.   

17. Explain the Provision regarding set-off losses. 

|èh[PøÍ \›PmkÁuØPõÚ Âv•øÓPøÍ ÂÍUSP. 

18. Discuss the various powers of Central Board of  

Direct Tax. 

÷|μi Á› Âv¨¤ØPõÚ ø©¯ ©zv¯U SÊÂß 

AvPõμ[PøÍ ÂÍUSP. 
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19. Mr. H Submits the following particulars about sale of 

assets during the previous year. 

  

 Jewellery Plot Gold 

Sale Price 2,75,000 11,12,000 1,50,000

Expenses on Sale -- 12,000 --

Cost of acquisition 35,000 1,05,000 50,000

Year of acquisition 1987-88 1984-85 1999-2000

CII 100 100 100 

 He purchased a house for Rs.6,00,000 on 1.3.2018, 

Calculate the amount of Capital gain. 

H Gß£Áº ö\õzx ÂØ£øÚ SÔzuõÚ RÌUPõq® 

Â£μ[PøÍ u¸QÓõº. 

 

 |øP {»® u[P® 

ÂØ£øÚ Âø» 2,75,000 11,12,000 1,50,000

ÂØ£øÚUPõÚ ö\»Ä –– 12,000 ––

Áõ[Q¯ Âø» 35,000 1,05,000 50,000

Áõ[Q¯ Bsk 1987-–88 1984–-85 1999–-2000

£nÃUP AmhÁøn 

Âø» 

100 100 100 

AÁº J¸ Ãmøh ¹.6,00,000US 1.3.2018 AßÖ Áõ[QÚõº. 

AÁμx ‰»uÚ »õ£zøuU PnUQkP. 
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20. From the following P & L A/c. Calculate Income from 

Business. 

  

To Rent 40,000  By Gross Profit 2,50,000

To Salary to 

Employee 

25,000  By House 

Property Income

1,50,000

To Depreciation 10,000  By Income from 

Other Sources 

2,00,000

To Donation 8,000   

To Net Profit 5,17,000   

 6,00,000   6,00,000

 (a) Depreciation to be allowed as per Income Tax 

provision Rs.8,000. 

 (b) Business Income at Rs.12,000 is not shown in the 

Profit and Loss a/c. 

 (c)  Rs.8,000 of rent is of personal motive. 

 RÌUPõq® »õ£ |mhU PnUQ¼¸¢x Â¯õ£õμ Á¸©õÚzøu 

PnUQkP. 

ÁõhøP 40,000  ö©õzu »õ£® 2,50,000

öuõÈ»õÍº 

\®£Í® 

25,000  Ãmka ö\õzx 

‰»® Á¸©õÚ®

1,50,000

÷u´©õÚ® 10,000  Cuμ CÚ 

Á¸Áõ°Ú[PÒ 

2,00,000

|ßöPõøh 8,000   

{Pμ »õ£® 5,17,000   

 6,00,000   6,00,000
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(A) Á¸©õÚ Á› Âv•øÓ°ß £i¯õÚ ÷u´©õÚ®   

 ¹.8,000. 

(B) Â¯õ£õμ Á¸©õÚ® »õ£ |mhU PnUQÀ 

Põmh¨£hõux ¹.12,000. 

(C) ö\õ¢u |»ÝUPõÚ ÁõhøP ¹.8,000. 

––––––––– 



 

  

Ws9

A–8648   

B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Corporate Secretaryship 

Elective – COST ACCOUNTING  

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Cost Accounting. 
 AhUPÂø»U PnUQ¯¼ß C»UPn® u¸P. 

2. What is Cost Centre? 
 AhUPÂø» ø©¯® GßÓõÀ GßÚ? 

3. Write down the formula for EOQ? 
 ]UPÚ öPõÒ•uÀ AÍÂÀ `zvμ® u¸P. 

4. What is Purchase Report? 
 öPõÒ•uÀ AÔUøP GßÓõÀ GßÚ? 

5. State any two merits of Halsey Scheme. 
 íõÀ÷\ T¼•øÓ°ß C¸ |ßø©PøÍ TÖ. 

6. Define the term Labour Turn over. 
 öuõÈ»õÍº _ÇØ] Gß£ußC»UPn® u¸P. 

7. State two Principles of Re-apportiment. 
 ©Ö £QºuÎ¨¤ß H÷uÝ® C¸ öPõÒøPPøÍ TÖ. 

Sub. Code 
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8. What is Job Evaluation? 
 £o ©v¨¥k GßÓõÀ GßÚ? 

9. What is Batch Costing? 
 ¤›Ä AhUPÂø» GßÓõÀ GßÚ? 

10. What is Completed Contract? 
 •iÄÒÍ J¨£¢u® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State Objectives of Cost Accounting? 
   AhUP PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Difference between Cost accounting and Financial 
Accounting. 

   AhUPÂø» ©ØÖ® {v PnUQ¯ø» ÷ÁÖ£kzxP. 

12. (a) Calculate the EOQ from the following : 

   Q = 600 Units 

   Ordering Cost Rs. 12 Per Unit 

   Carrying Cost 20% 

   Price Per Unit Rs. 20 

    RÌPsh ÂÁμ[PÎÀ C¸¢x Po\©õÚ öPõÒ•uÀ 

AÍøÁ EOQ Psk¤i. 

   AÍÄ = 600 GsoUøP 

   Bøna ö\»Ä ¹. 12 J¸ BønUS 

   øP°¸¨¦ ö\»Ä = 20% 

    Âø» ¹. 20 JßÖUS. 

Or 
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 (b) Calculate Inventory Turnover Ration? 

   Minimum Stock Level 2000 Units 

   Reorder Quantity 4000 Units 

   Maximum Stock Level 6000 Units 

   Issues 12000 Units 

   \μUS _ÇØ] ÂQu® PnUQkP. 

    SøÓ¢u£m\ \μUS {ø» 2000 A»SPÒ 

    ©Ö Bøn GsoUøP 4000 A»SPÒ 

    AvP £m\ \μUS {ø» 6000 A»SPÒ 

    ÁÇ[Q¯x 12000 A»SPÒ. 

13. (a) Calculate the Earning of a worker :   

   (i) Time Rate Method 

   (ii) Piece Rate Method 

    Standard Time 30 Hrs. 

    Time Taken 20 Hrs 

    Hourly Rate of Wages is Re. 1 per hr. plus a 
DA@ 0.50 Paise per hour. 

    Produce 110 units in a hour. 

   £o¯õÍº Á¸Áõø¯ PnUQkP. 

  (i) ÷|μU T¼•øÓ 

    (ii) A»S ÂQu vmh •øÓ 

     £oö\´¯ RÌPsh uμ ÷|μ® 30 ©oPÒ 

     GkzxUöPõsh ÷|μ® 20 ©oPÒ 

     ©o ÷|μ T¼ ¹. 1 ©o JßÖUS 

     £g\¨£i 50 ø£\õ ÷Áø» ö\´²® ©o JßÖUS 

     J¸©o ÷|μzvØS u¯õ›zx 110 A»SPÒ. 

Or 
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 (b) From the following data Calculate Wages under 
Rowan Plan and Halsey Plan. 

   Time Allowed  –  48 Hrs. 

   Time Taken  –  40 Hrs. 

   Rate Per Hr.  – Rs. 10 

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ÷μõÁõß vmh®, íõÀ÷\ 

vmh® ‰»® T¼ PnUQkP. 

   AÝ©vUP¨£mh ÷|μ®  –  48 ©o 

   Gkzu ÷|μ®   –  40 ©o 

   ©nUS T¼ Ãu®   – ¹. 10 

14. (a) What are the bases for the apportionment of 
Expenses given below : 

   (i)     Depreciation on machine 

          (ii)    Canteen Expenses 

          (iii)   Labour Welfare Expenses 

          (iv)   Rent of Building 

          (v)    Sales Expenses 

          (vi)   Electric Power 

   R÷Ç öPõkUP¨£mkÒÍ ö\»ÂÚ[PøÍ £À÷ÁÖ 

xøÓPÐUS G¢u Ai¨£øh°À £›¢uÎUP»õ®. 

   (i)     C¯¢vμzvß «uõÚ ÷u´©õÚ® 

          (ii)    ÷Pßmjß ö\»ÄPÒ 

          (iii)   öuõÈ»õÍº |»aö\»ÄPÒ 

          (iv)   Pmhh ÁõhøP 

          (v)    ÂØ£øÚ ö\»ÄPÒ 

           (vi)   ªß\õμ BØÓÀ. 

Or 
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 (b) In a factory there are two service departments  

P & Q and three Production departments A, B, & C. 

In April the department expenses are allotted on a 

percentage basis as follows : 

   A – Rs. 6,50,000   B – Rs. 6,00,000  C – Rs. 5,00,000 

   P – Rs. 1,20,000    Q – Rs. 1,00,000 

 A B C P Q 

P 30% 40% 15% – 15%

Q 40% 30% 25% 5% – 

  Prepare a statement showing the distribution of the 

two service department expenses to three 

departments under "Repeated Distribution 

Method".   

   J¸ öuõÈØ\õø»°À P & Q GßÓ ÷\øÁ xøÓPÐ®  

A, B, C GßÓ EØ£zv xøÓPÐ® C¸¢uÚ. AÁØÔß 

H¨μÀ ©õu xøÓ ö\»ÄPÒ RÌÁ¸©õÖ. 

  A – Rs. 6,50,000   B – Rs. 6,00,000  C – Rs. 5,00,000 

   P – Rs. 1,20,000    Q – Rs. 1,00,000 

 A B C P Q 

P 30% 40% 15% – 15%

Q 40% 30% 25% 5% – 

  ÷\øÁ xøÓPÎß ö\»ÄPøÍ EØ£zv xøÓPÐUS 

«sk® «sk® £QºÄ ö\´²® •øÓ Ai¨£øh°À 

£Qº¢uÎUPÄ®. 
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15. (a) Prepare Process account and calculate the value of 
abnormal Loss. 100 Units are introduced in to  a 
process at a cost of Rs. 4,800 and an expenditure of 
Rs. 2,400 is incurred. From the past experience, it is 
ascertained that wastage normally arises to 15% of 
the input. The waste product has a scrap value of 
Rs. 10 per unit. The actual output is 80 units. 

   £i•øÓ PnUøP u¯õº ö\´x  A\õuõμn |mhzøu 

PnUQkP. 100 A»SPÒ ¹. 4,800 AhUPzvÀ J¸ £i 

•øÓ°À Emö\¾zu¨£mhx. ¹. 2,400 ÷©Øö\»ÄPÒ 

B°Ú. ö\ßÓ Põ»[PÎß AÝ£Ázvß 

PÈ¨¦¨ö£õ¸Ò, EÒö\¾zv¯ A»SPÎÀ 15% GÚ 

GkzxUöPõÒÍ¨£kQÓx. {PμõP öÁÎÁ¢u A»SPÒ 

80, PÈ¨¦¨ ö£õ¸Ò ÂØ£øÚ Âø» A»S JßÖ ¹. 10. 

Or 

 (b) From the following Particulars relating to Job. No. 
120 ascertains the total cost and estimated selling 
price : 

   Direct Material Rs. 17,600 

   Direct Labour Rs. 8,000 

   Works overhead are recovered on the basis of 50% 
on prime cost and administrative overheads 10% of 
works cost. A profit of 10% on total cost is to be 
added. 

   ¤ßÁ¸® £o Gs. 120 öuõhº£õÚ ¤ßÁ¸® 

Â£μ[PÎ¼¸¢x ö©õzu AhUP Âø»°øÚ¯® 

©v¨¤h¨£mh  ÂØ£øÚ Âø»ø¯²® PnUQkP. 

    ÷|μi ‰»¨ö£õ¸Ò ¹. 17,600 

    ÷|μi T¼ ¹. 8,000 

    £o÷©Øö\»Ä •ußø© AhUPzvß «x 50% •®, 

{ºÁõP ÷©Øö\»Ä £o AhUPzvß «x 10% •® 

PnUQh¨£kQÓx. C»õ£©õÚx ö©õzu AhUP 

Âø»°À 10% Tmh¨£kQÓx. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the important types of cost accounting systems? 

 AhUPÂø» PnUQ¯À •øÓ°À •UQ¯ ÁøPPøÍ ÂÁ›. 

17. Prepare Cost sheet? 

 Raw Material Used Rs. 60,000 

 Wages Rs. 15,000   

 Work Expenses is charged at 100% of Wages 

 Office overhead is charged at 25% of Work cost 

 Selling overhead is 10% of cost of production.     

 AhUPÂø» £mi¯À u¯õ›UP. 

 E£÷¯õQzu ‰»¨ö£õ¸Ò ¹. 60,000 

 T¼ ¹. 15,000   

 öuõÈØ\õø» ÷©Øö\»ÄPÒ T¼°À 100%  

 A¾Á»P ÷©Øö\»ÄPÒ öuõÈØ\õø» AhUPzvÀ 25%  

 ÂØ£øÚ ÷©Øö\»ÄPÒ EØ£zv AhUPzvÀ 10%. 

18. Show the stores ledger using weighted average method. 

 01.01.2015  Purchased 500 Units @ Rs. 2 per unit 

 10.01.2015  Purchased 300 Units @ Rs. 2.10 per unit 

 15.01.2015  Issued 600 Units 

 20.01.2015  Purchased 400 Units @ Rs. 2.20 Per unit 

 25.01.2015  Issued 300 Units 

 27.01.2015  Purchased 500 @ Rs. 2.10 per unit   

 31.01.2015  Issued 200 units. 
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 Gøh \μõ\› •øÓ°À £shP¨ ÷£÷μmk PnUS u¯õ›UP. 

 01.01.2015  öPõÒ•uÀ 500 A»SPÒ ¹. 2 Ãu® 

 10.01.2015  öPõÒ•uÀ 300 A»SPÒ ¹. 2.10 Ãu® 

 15.01.2015  öÁÎ±k 600 A»SPÒ  

 20.01.2015  öPõÒ•uÀ 400 A»SPÒ ¹. 2.20 Ãu® 

 25.01.2015  öÁÎ±k 300 A»SPÒ  

 27.01.2015  öPõÒ•uÀ 500 A»SPÒ ¹. 2.10 Ãu®  

 31.01.2015  öÁÎ±k 200 A»SPÒ. 

19. A product passes through three process X, Y & Z to 
completion. From the following information relating to 
process Y prepare process Y account and abnormal loss 
account. 

 Received from Process X 950 Units  Rs. 9500 
 Raw Materials             Rs. 1980 
 Direct Wages              Rs. 3000 
 Normal Loss               10% 
 Scrap sold per unit    Rs. 4 

 General Expenses 100% of Direct Wages 

 Number of Units produced 840. 

 J¸ ö£õ¸Ò •Êø©ö£Ó ‰ßÖ ö\´ÂøÚPÒ X, Y & Z 

PhUP ÷Ásk®. RÌPsh ÂÁμ[PÎ¼¸¢x Y ö\´ÂøÚa 

ö\»ÄU PnUS ©ØÖ® C¯À¦ «Ô¯ |mhU PnUS u¯õ›UP. 

 X ö\´ÂøÚ°¼¸¢x ö£ØÓx 950 GsoUøP ¹. 9500 

  Pa\õ¨ö£õ¸Ò ¹. 1,980 

 C¯À£õÚ |mh® 10% 

 PÈÄ ÂØÓx ¹. 4 JßÖUS 

  ö£õxa ö\»Ä ÷|μiU T¼°À 100% 

 EØ£zv ö\´u ö£õ¸Ò GsoUøP 840. 



A–8648 

  

  9

Ws9

20. Mr. A has undertaken several contract works. He 

maintains separate record for each contract. From the 

records, for the year ending 31.12.1998, Prepare Contract 

account for Contract No. 45 and find the account 

transferred to Profit and Loss account. 

 Direct material Purchased          Rs. 1,80,000 

 Material issued form stores      Rs. 50,000 

 Wages                              Rs. 2,44,000 

 Direct Expenses                   Rs. 24,000 

 Machinery Purchased               Rs. 1,60,000 

 Establishment charges             Rs. 54,000 

 The contract price was Rs. 15,00,000 cash received up to 

31.12.98 was Rs. 6,00,000 which is 80% of the work 

certified. Materials at site Rs. 16,000.       

 Depreciation for Machine Rs. 16,000. 

 v¸. A Gß£Áº £À÷ÁÖ J¨£¢u[PøÍ HØÖUöPõshõº. 

JÆöÁõ¸ J¨£¢uzvØS® AÁμx ÷£÷μmiÀ uÛ uÛ 

PnUSPÒ øÁzv¸¢uõº. 31.12.1998 Gs 45 US BÚ 

J¨£¢uzvß «uõÚ ö\»ÄPÒ R÷Ç öPõkUP¨£mkÒÍx. 

 ÷|μi¯õP öPõÒ•uÀ ö\´u ö£õ¸mPÒ        ¹. 1,80,000 

 Qh[Q¼¸¢x ÁÇ[Q¯ ö£õ¸mPÒ      ¹. 50,000 

 T¼                               ¹. 2,44,000 

 ÷|μia ö\»ÄPÒ                    ¹. 24,000 

 G¢vμ® öPõÒ•uÀ                ¹. 1,60,000 

 {ºÁõP ö\»ÄPÒ               ¹.54,000 
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 J¨£¢u Âø» ¹. 15,00,000, 31.12.1998 Áøμ ¹. 6,00,000 

öμõUP©õP ö£Ó¨£mhx. Cx \õßÔuÌ AÎUP¨£mh 

Âø»°À 80%  BS®. öuõÈ¼hzvÀ EÒÍ CÖv¨ 

ö£õ¸mPÎß  ©v¨¦ ¹. 16,000. G¢vμzvß «x ¹. 16,000. 

÷u´©õÚ® GÊu¨£h ÷Ásk®. J¨£¢u PnUøP u¯õ›zx 

Dmi¯ C»õ£zøu PõsP. 

 

 

 
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions 

1. What is voluntary winding up? 

 ußÂ¸¨£ Pø»¨¦ GßÓõÀ GßÚ? 

2. How liquidator’s remuneration is calculated? 

 Pø»¨£õ»›ß Fv¯® GÆÁõÖ PnUQh¨£kQÓx? 

3. What is Capital profit? 

 ‰»uÚ C»õ£® GßÓõÀ GßÚ? 

4. What is meant by minority interest? 

 ]Ö£õßø©¯º |»ß GßÓõÀ GßÚ? 

5. State the meaning of surrender value? 

 \μß ©v¨¦ ö£õ¸Ò u¸P. 

6. What is statutory reserve? 

 \mh§ºÁ Põ¨¦ GßÓõÀ GßÚ? 

7. What is Non–Performing Assets? 

 ö\¯»ØÓ ö\õzxUPÒ GßÓõÀ GßÚ? 

Sub. Code 
4BCS6C1 
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8. What is Bills for Collection? 

 ©õØÖ ^mk Á`¼zuÀ GßÓõÀ GßÚ? 

9. Define Computerized Accounting? 

 Po¨ö£õÔ PnUS C»UPn® ÁøμP. 

10. What is ERP – 9? 

 ERP – 9 GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions 

11. (a) What are the different modes of winding up? 

   {ÖÁÚ Pø»¨¤ß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) What is meant by liquidator final statement of 
accounts? 

   Pø»¨£õÍ›ß CÖv PnUøP £ØÔ } AÔÁÚ ¯õøÁ? 

12. (a) What is holding company? What the merits? 

   ¤i¨¦ {Ö©® GßÓõÀ GßÚ? Auß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Prepare consolidated Balance Sheet. 
Liabilities H Ltd., 

Rs. 
S Ltd 

Rs. 
Assets H Ltd., 

Rs. 
S Ltd., 

Rs. 

Share 
capital 5,00,000 2,00,000 

Sundry 
Assets 5,60,000 2,60,000 

Creditors 80,000 60,000 

Investment 
60% shares 
in S Ltd at 

cost 

1,20,000  

Reserve 
Fund  1,00,000 

    

 6,80,000 2,60,000  6,80,000 2,60,000
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 J¸[Qøn¢u C¸¨¦ {ø» SÔ¨¦ u¯õ›UP.  

ö£õÖ¨¦PÒ H Ltd., 
Rs. 

S Ltd 
Rs. 

ö\õzxUPÒ H Ltd., 
Rs. 

S Ltd., 
Rs. 

£[SPÒ 
5,00,000 2,00,000 

Cuμ 

ö\õzxUPÒ
5,60,000 2,60,000

PhÜ¢÷uõº 80,000 60,000 

60% 

£[SPÎÀ 
S ¼ª., 

AhUPzvÀ 

•u½k 

ö\´ux.  

1,20,000

Põ¨¦ {v  
1,00,000   

 6,80,000 2,60,000  6,80,000 2,60,000

13. (a) Give a specimen for Fire Revenue Account. 

   w Á¸Áõ´ PnUQß ©õv› £iÁ® u¸P. 

Or 

 (b) From the following details relating to claims, you 
are required to calculate the net claim to be shown 
in Revenue account for the year ending 31.3.2003. 

 Rs. 
Claims paid for the year ended 31.3.2003 4,50,000
Claims intimated but not accepted and paid on 31.3.2003 25,000
Claims intimated and accepted but not paid on 31.3.2003 35,000
Legal expenses regarding claims 15,000
Medical expenses regarding claims 5,000
Re-insurance recoveries 6,000

  ÷Põ¸›ø© \®©¢u©õÚ RÌPõq® Â£μ[PÎ¼¸¢x 

31.3.2003À •iÁøh²® BsiØPõÚ {Pμ 

÷Põ¸›ø©²® Á¸Áõ°ÚU PnUøP²® u¯õ›UPÄ®. 
 Rs. 

31.3.2003À •iÁøh²® BsiÀ ö\¾zv¯ ÷Põ¸›ø© 4,50,000
÷Põ¸›ø© öuÂUP¨£mk HØP¨£hõu ©ØÖ® 31.3.2003À 

ö\¾zu¨£hõuøÁ 

25,000
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÷Põ¸›ø© öu›ÂUP¨£mk HØP¨£mk ©ØÓ® 31.3.2003À 

ö\¾zu¨£hõuøÁ 

35,000

÷Põ¸›ø© \®©¢u©õÚ \mh ö\»ÄPÒ 15,000
÷Põ¸›ø© \®©¢u©õP ©¸zxÁ ö\»ÄPÒ 5,000
©ÖPõ¨¥mk öuõøP v¸®£ ö£ØÓøÁ 6,000

14. (a) On 31st December 2005 pupular bank limited held 
the following bills discounted at 5% 

Due Date Amount

31.01.2006 25,000

30.04.2006 20,000

03.03.2006 15,000

   Calculate rebate on bills discounted, assuming that 
accounts are closed on 31st December. 

   31 i\®£º 2005 AßÖ £õ¨¦»º Á[Q ¤ßÁ¸® 

Esi¯ÀPøÍ 5% PÈÂÀ PÈÄ ö\´v¸¢ux. 

öPk ÷uv öuõøP

31.01.2006 25,000 

30.04.2006 20,000 

03.03.2006 15,000 

   PnUSPÒ 31 i\®£º AßÖ •iÁøhÁuõPU P¸v 

PÈÄ ö\´u Esi¯ÀPÒ «uõP uÒÐ£iø¯U 

PnUQkP. 

Or 
 (b) Calculate the correct Life Assurance Fund. 

 Rs. 
Life assurance fund 56,70,000
Premium outstanding 2,30,000
Claims outstanding 1,80,000
Claims covered under reinsurance 20,000

 Rs. 
Claims of last year paid during this year 5,000
Bonus paid in cash 14,000
Bonus utilized in reduction of premium 16,000
Interest and dividend accrued 7,500
Income tax 800
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 \›¯õÚ Põ¨¥mk {vø¯ PnUQkP. 

 Rs. 
Põ¨¥mk EÖv{v 56,70,000
{¾øÁ°¾ÒÍ •øÚ©® 2,30,000
öPõkUP ÷Ási¯ ÷Põ›UøPPÒ 1,80,000
©ÖPõ¨¥miØS Em£mh ÷Põ›UøPPÒ 20,000
•¢øu¯ Á¸h Põ¨¥k ÷Põ›UøPPÒ C¢u Á¸h® 

ö\¾zv¯x 

5,000

FUP Fv¯® öμõUP©õP ö\¾zv¯x 14,000
•øÚ©® SøÓUP£kÁuØPõP £¯ß£kzu¨£mh FUP 

Fv¯® 

16,000

Ámi ©ØÖ® £[Põuõ¯® {¾øÁ°À EÒÍx  7,500
Á¸©õÚ Á› 800

15. (a) Explain the importance of Computers in 
accounting? 

   PnUQ°¯¼À PoÛ°ß •UQ¯zxÁzøu £ØÔ 

GÊxP. 

Or 

 (b) How to View Tally audit list? 

   Tally uoUøP Á›ø\ø¯ GÆÁõÖ £õº¨£õ´. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Shyamnath Limited Voluntarily liquidated on 31st 
December 2015 information available to liquidator. 

Sundary creditors Rs. 75,660 (Included preferential 
creditors Rs. 8,000) 

6% debentures 80,000 (Having floating charges) 

Debentures are redeemed on 30.06.2015 

Debentures interest already paid upto 30.06.2016 

 The following assets are sold: 
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 Rs.

Stock 84,000

Machinery  60,600

Cash in Hand  500

Liquidation Expenses  1,902

 Liquidators remuneration: 3% on assets realized, 2% on 
amount paid to unsecured creditors. 

 Prepare liquidators final statement of account. 

 æ¯õ®|õz {ÖÁÚ® 31 i\®£º 2015À uõ÷Ú 

Pø»UP¨£mhx. Pø»¨£õÍ›h® ¤ßÁ¸® uPÁÀPÒ 

EÒÍx. 

 £Ø£» PhÜ¢÷uõ¸US ¹. 75,660 (CvÀ •ßÝ›ø© 

PhÜ¢÷uõºPÒ ¹. 8,000 Ah[Q²ÒÍx) 

 6% Phß £zvμ[PÒ 80,000 (•uøÁ¨ £ØÖøh¯øÁ) 

 Phß £zvμ[PÒ 30.06.2015 AßÖ «mP¨£mhx. 

 CÁØÔß «x 30.06.2016 Áøμ Ámi ö\¾zu¨£mhx 

  ö\õzxUPÒ ¤ßÁ¸©õÖ ÂØP¨£mhÚ: 

 ¹.

\μUS 84,000

C¯¢vμ®  60,600

öμõUP C¸¨¦  500

Pø»¨¦ ö\»ÄPÒ  1,902

 Pø»¨£õÍº Ev¯®: ö\õzxUPÒ ÂØÓ öuõøP°À 3% 

¤øÚ¯ØÓ PhÜ¢÷uõºPÐUS ÁÇ[P¨£mh öuõøP°À 2%. 

 Pø»¨£õÍ›ß CÖvU PnUøP u¯õº ö\´P. 
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17. Prepare consolidated Balance Sheet. 
Liabilities H Ltd., 

Rs. 
S Ltd 

Rs. 
Assets H Ltd., 

Rs.
S Ltd., 

Rs.

Share 
capital  
Rs. 10 

2,00,000 1,00,000 Sundry 
Assets 1,30,000 1,55,000 

Creditors 27,500 22,000 
Shares in 
S Ltd at 
cost 

1,40,000  

Reserve 
Fund 18,000 20,000   

P and L 
account 24,500 13,000   

 2,70,000 1,55,000  2,70,000 1,55,000 

 ‘‘S’’ Limited profit for the year ended 31st December 2008 
is Rs. 12,000 and transfer to reserve is Rs. 5,000. The 
holding of ‘‘H’’ limited in ‘‘S’’ limited is 90% acquired on 
30th June 2008. 

 J¸[Qøn¢u C¸¨¦{ø» SÔ¨¤ u¯õ›UP. 

ö£õÖ¨¦PÒ H Ltd., 
Rs. 

S Ltd 
Rs. 

ö\õzxUPÒ H Ltd., 
Rs. 

S Ltd., 
Rs.

£[SPÒ 

¹.10 
2,00,000 1,00,000 Cuμ ö\õzxUPÒ 1,30,000 1,55,000

PhÜ¢÷uõº 27,500 22,000 

S ¼ª. 

£[SPÎÀ 

AhUPzvÀ 

ö\´ux 

1,40,000 

Põ¨¦Öv 18,000 20,000   

»õ£ |mh 

P/S 
24,500 13,000   

 2,70,000 1,55,000  2,70,000 1,55,000

 ‘‘S’’ ¼ªmöhm 31.12.2008 AßÖ »õ£® ¹. 12,000® Põ¨¦ {v 

¹. 5,000 C¸¢ux H ¼ªöhm S ¼ªmöhm 90 \uÃu 

£[SPøÍ 30 áúß 2008 AßÖ EmöPõshx. 
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18. Prepare Revenue account for year ended 31.3.2008 

Life fund on 1.4.07 80,12,300 claim by survivance 64,452 

Premium less 
reinsurance 7,11,348 Surrender 74,606 

Consideration for 
annuities to be granted 22,676 Interest and 

dividends 4,47,070 

Annuities 77,376 Fire to revival of 
policies 716 

Bonus paid 22,312 Claims by death 6,75,910 

Commission 22,834 Claims covered 
under reinsurance 54,000 

Dividends to share 
holders 19,756 Expenses of 

Management 80,140 

Income Tax 17,186 

 

 

 31.3.2008 AßøÓ¯ Á¸Áõ´ PnUS u¯õ›UP. 

  

1.4.07 AßøÓ¯ B²Ò{v 80,12,300 
ÁõÌ|õÎß ÷£õx 

÷Põ›UøP 
64,452 

©ÖPõ¨¥k }[P»õP 

•øÚ©® 
7,11,348 \©º¤¨¦ 74,606 

{ºön°zux 22,676 Ámi ©ØÖ® £[Põuõ¯® 4,47,070 

‰»uÚ ©Ö£¯ß 77,376 £õ¼ ©ÖÁõÌÄ Pmhn® 716 
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÷£õÚì ö\¾zv¯x 22,312 CÓ¨¦US›¯ ÷Põ›UøP 6,75,910 

PÈÄ 22,834 
©ÖPõ¨¥miß RÌ 

÷Põ›UøP 
54,000 

£[Põuõ¯® 19,756 ÷©»õsø© ö\»ÄPÒ 80,140 

Á¸©õÚ Á› 17,186 

 

 

19. From the following information prepare profit and loss 
account of ABC Bank Limited as on 31.3.2002 in the 
prescribed form. 

 Rs.  Rs. 

Interest on Loan 2,59,000 Rent and Tax 18,000 

Interest on fixed deposit 2,75,000 Interest on overdraft 1,54,000 

Rebate on Bills discounted 49,000 Directors fees 3,000 

Commission 8,200 Auditors fees 1,200 

Establishment 54,000 Interest on SB 
account 

68,000 

Discount on Bills 
discounted 

1,95,000 Postage 1,400 

Interest on cash credit 2,23,000 Pinting 2,900 

Interest on current 
account 

42,000 Sundry charges 1,700 

 Additional information: 

 (a) Bad debts to be written off Rs. 40,000 

 (b) Provision for taxation to be made @ 55% 

 (c) Balance of profit from last year Rs. 1,20,000 

 (d) The directors have recommended a dividend of  
Rs. 20,000 for the shareholders. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ABC  Á[Q ¼ªöhmiß 

31.3.2002–ß »õ£ |mhU PnUQøÚ u¯õ›UPÄ®. 

 Rs.  Rs. 

Phß «uõÚ Ámi 2,59,000 ThøP ©ØÖ® 

Á›PÒ 

18,000 

{¾øÁ øÁ¨£ «uõÚ 

Ámi 

2,75,000 ÷©ÀÁøμ£ØÖ 

«uõÚ Ámi 

1,54,000 

©õØÖa^mk «uõÚ 

Dmh¨£hõu uÒÐ£i 

49,000 C¯US|º Pmhn® 3,000 

PÈÄ 8,200 uoUøP¯º 

Pmhn® 

1,200 

÷uõØÖÂ¨¦a ö\»Ä 54,000 ÷\ª¨¦ P/S 

«uõÚ Ámi 

68,000 

©õØÓa^mk «uõÚ 

uØÖ£i 

1,95,000 u£õÀ 1,400 

öμõUP Phß «uõÚ 

Ámi 

2,23,000 Aa_ 2,900 

|h¨¦ P/S «uõÚ 

Ámi 

42,000 £Ø£» ö\»ÄPÒ 1,700 

 TkuÀ uPÁÀPÒ: 

 (A) ÁμõUPhß «uõÚ }UQ¯x ¹. 40,000 

 (B) Á¸©õÚ Á› «uõÚ JxUS 55% 

 (C) ö\ßÓ Bsiß »õ£ C¸¨¦ ¹. 1,20,000 

 (D) £[SuõμºPÐUS £[Põuõ¯©õP ¹. 20,000 Áõ[P 

C¯US|ºPÒ £›¢xøμ ö\´uÚº. 

20. What are the uses of Computerized accounting in Tally? 
Discuss. 

PoÛ PnUQ¯¼À Tally £¯ß£õk £ØÔ ÂÍUSP. 

———————— 
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B.Com.(C.S)DEGREE EXAMINATION, NOVEMBER 2019 

Sixth Semester 

Corporate Secretaryship  

INDUSTRIAL LAW 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define: Worker. 

 £o¯õÍº Áøμ¯Ö. 

2. Define: Factory. 

 öuõÈØ\õø» Áøμ¯Ö. 

3. Define: Wages 

 T¼ Áøμ¯Ö. 

4. Define: Partial disablement.  

 £Sv C¯»õø©Áøμ¯Ö. 

5. What are the contents of minimum wages? 

 SøÓ¢u £m\ T¼°ß EÒÍhUP® ¯õøÁ? 

6. What is Bonus? 

 ÷©¿v¯® GßÓõÀ GßÚ? 

Sub. Code 
4BCS6C3 
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7. What is object of employees provident fund Act? 

 öuõÈ»õÍº ÷\© |»{v \mhzvß SÔU÷PõÒ GßÚ? 

8. Define: Continuous service.  

 öuõhºa]¯õÚ £o Áøμ¯Ö. 

9. Define: Industrial Dispute. 

 öuõÈØ uPμõÖ Áøμ¯Ö. 

10. Define: Trade union.  

 öuõÈØ \[P® – Áøμ¯Ö. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the objectives of the factories Act 1948? 

   öuõÈØ\õø» \mh® 1948ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) State the provisions of the factories Act relations to 
the relations to the welfare of workers? 

   öuõÈØ\õø» \mhzvß£i £o¯õÍºPÎß |»ß 

öuõhº£õÚ \mh \μzxUPøÍ TÖ. 

12. (a) State the objectives of workmen’s compensation Act 
1923. 

   £o¯õÍ›ß CÇ¨¥k \mh® 1923 ß ÷|õUP[PøÍ 

TÖ. 

Or 

 (b) Discuss the various benefits available to an insured 
person under ESI Act 1948. 

   ESI Act 1948ß £i Põ¨¥k ö\´u |£¸US QøhUS® 

£À÷ÁÖ £»ßPøÍ ÂÁõvUPÄ®. 
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13. (a) Explain the functions and powers of inspectors 
under the payment of wages Act 1936. 

   T¼ ö\¾zx® \mh® 1936ß £i B´ÁõÍ›ß £oPÒ 

©ØÖ® AvPõμ[PøÍ ÂÍUSP. 

Or 

 (b) State the objectives of payment of Bonus Act 1965? 

   ÷©¿v¯® ö\¾zx® \mh® 1965 ß ÷|õUP[PøÍ TÖ. 

14. (a) What are the objectives of the employees provident 
fund Act 1952? 

   £o¯õÍº ÷\© |»{v \mh® 1952 ß ÷|õUP[PÒ 

¯õøÁ? 

Or 

 (b) State the rules regarding nomination under the 
payment of Gratuity Act 1972. 

   £oUöPõøh ö\¾zx® \mh® 1972ß £i 

Áõ›_uõμºPÒ öuõhº£õÚ \μzxUPøÍ TÖ. 

15. (a) What are the various methods for settlement of 
Industrial disputes? 

   öuõÈØ uPμõÖPøÍ wºUS® £À÷ÁÖ •øÓPøÍU TÖ. 

Or 

 (b) What is the procedure for  registering Trade Union? 

   öuõÈØ \[Pzøu £vÄ ö\´ÁuØPõÚ |øh •øÓPøÍ 

TÖ. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the main powers of Inspectors as per factories 
Act 1948. 

öuõÈØ\õø» \mh® 1948ß £i B´ÁõÍ›ß £oPøÍ 

ÂÍUSP. 

17. Discuss the general Provisions as to benefits under 
employee’s state insurance Act 1948. 

öuõÈ»õÍº ©õ{» Põ¨¥k \mh® 1948ß £i CÇ¨¥k 

£»ßPÒ ö£ÖÁuØPõÚ ö£õxÁõÚ \mh \μzxUPøÍ 

ÂÁõvUPÄ®. 

18. Explain the rules regarding the payment of bonus Act 
1965. 

÷©¿v¯® ö\¾zx® \mh® 1965 öuõhº£õÚ \mh 

\μzxUPøÍ ÂÍUSP. 

19. Explain powers of inspector under the payment of 
Gratuity Act 1965. 

÷©¿v¯® ö\¾zx® \mh® 1965ß £i B´ÁõÍ›ß 

AvPõμ[PøÍ ÂÍUSP. 

20. Explain the provisions of the Trade Union Act 1926. 

 öuõÈØ\[P \mh® 1926 ß \mh \μzxUPøÍ ÂÍUSP. 

 

 

 
———————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Sixth Semester 

Corporate Secretaryship 

BUSINESS ETHICS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What are ethical practices? 

 |ßöÚÔ |øh•øÓPÒ GßÓõÀ GßÚ? 

2. What is moral standard? 

 JÊUP uμ{ø» GßÓõÀ GßÚ? 

3. Mention few strengths of Deontological theory. 

 AÓö|Ô°¯À ÷Põm£õmiß £»ßPøÍ SÔ¨¤kP. 

4. Differentiate ethics and values.  

 ö|Ô•øÓ ©v¨¦ – ÷ÁÖ£kzxP. 

5. What is Bribe? 

 »g\® GßÓõÀ GßÚ? 

6. What do you mean by work ethic? 

 £o ö|Ô•øÓ – ö£õ¸Ò u¸P. 

Sub. Code 
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7. What is CSR? 

 ö£¸® {ÖÁß \‰P ö£õÖ¨¦nºÄ GßÓõÀ GßÚ? 

8. List out few issues of corporate governance in India. 

 C¢v¯ {Ö© BÐøP°ß ]» ]UPÀPøÍ Á›ø\¨£kzxP. 

9. What is incentive? 

 \¾øPPÒ GßÓõÀ GßÚ? 

10. Is ‘‘Safety’’ important at work place? Why? 

 £o ChzvÀ ‘‘£õxPõ¨¦’’ •UQ¯©õÚuõ? Hß? 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What is Business ethics? Explain its functions. 

   ÁºzuP ö|Ô•øÓ GßÓõÀ GßÚ? Auß £oPøÍ 

ÂÁ›. 

Or 

 (b) Narrate the needs and scope of ethics. 

   ö|Ô•øÓ°ß ÷uøÁPÒ ©ØÖ® ÷|õUP[PøÍ TÖ 

ÃμõP. 

12. (a) Explain Kantianism theory in detail. 

   ö\À ö|Ô•øÓ ÷Põm£õk – ÂÁ›. 

Or 

 (b) Compare Utilitarianism and Deontology. 

   £¯öÚÔ•øÓ, AÓö|Ô°¯À – J¨¤kP. 
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13. (a) Describe the obligations of corporate to its 

employees and stakeholders. 

   £o¯õÍºPÎh•®, £[SuõμºPÎh•® {ÖÁÚzvØS 

C¸US® ö£õ¸¨¦PøÍ ÂÍUSP. 

Or 

 (b) Discuss the benefits of managing ethics at 

workplace. 

   £o°hzvÀ ö|Ô•øÓ°ÚõÀ QøhUS® £¯ßPøÍ 

ÂÁõvUP. 

14. (a) Explain the characteristics of ethical organization. 

   ö|Ô•øÓ ¤ß£ØÖ® Aø©¨¤ß £s¦PøÍ ÂÍUSP. 

Or 

 (b) What are the objectives of social audit? 

   \‰P uoUøP°ß ÷|õUP[PÒ ¯õøÁ? 

15. (a) What is working condition? Explain the 

characteristics of good working condition. 

   £o `ÇÀ Gß£x GßÚ? |À» £o `Ç¼ß 

£s¦PøÍ ÂÁ›. 

Or 

 (b) What are the ethical practices to be followed at the 

workplace by the employer? 

   £o°hzvÀ •u»õÎ ¤ß£ØÓ ÷Ási¯  |ßöÚÔ 

|øh•øÓPÒ ¯õøÁ? 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the principles of ethics. 

 ö|Ô•øÓ°ß öPõÒøPPøÍ ÂÁ›. 

17. Explain the objections for Teleological theory. 

 Teleological ÷Põm£õmiØS ©Ö¨¦PøÍ ÂÁ›. 

18. Describe the crimes against own company, investors and 
other companies. 

 ö\õ¢u {ÖÁÚ®, ‰u½mhõÍº, ©ØÓ {ÖÁÚ® BQ÷¯õØS 

GvμõÚ SØÓ[PøÍ ÂÍUSP. 

19. Briefly explain the benefits of good corporate governance. 

 {Ö© BÐøP°ß £¯ßPøÍ Â›ÁõP ÂÍUSP. 

20. Explain Employee's and Employer's obligations towards 
each other. 

 £o¯õÍºPÐUS® •u»õÎPÐUS® J¸Áº ©ØÓÁ¸US 

C¸US® ö£õ¸¨¦PøÍ ÂÁ›. 

 

 

 
———————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Sixth Semester 

Corporate Secretaryship 

Elective: FINANCIAL SERVICES 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you understand by financial innovation? 

 {v ¦zuõUP® £ØÔ }Âº AÔÁx ¯õx? 

2. State any two weaknesses of financial companies. 

 {v {Ö©[PÎß H÷uÝ® Cμsk £»ÃÚ[PøÍU TÖP. 

3. What do you mean by operating leasing? 

 C¯UP SzuøP Gß£uß ö£õ¸Ò ¯õx? 

4. What is hire purchase agreement? 

 uÁøn öPõÒ•uÀ J¨£¢u® Gß£x ¯õx? 

5. What is share fund? 

 £[S {v GßÓõÀ GßÚ? 

6. Who is a Custodian of mutual funds? 

 £μì£μ {v°ß £õxPõÁ»º ¯õº? 

Sub. Code 
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7. What are credit cards? 

 Phß Amøh Gß£x ¯õx? 

8. What is meant by start up capital? 

 öuõhUP •u½k Gß£x ¯õx? 

9. Define merchant banking. 

 ÁoP Á[Q°¯À – Áøμ¯ÖUP. 

10. What is stock borking? 

 ö£õx{v uμS Gß£x ¯õx? 

 Part B (5  5 = 25) 

Answer all questions 

11. (a) State the nature of financial service industry. 

   {v ÷\øÁz öuõÈ¼ß C¯À¤øÚU TÖP. 

Or 

 (b) What are the stages in development of financial 
markets? 

   {v°¯À \¢øu ÷©®£õmiß {ø»PÒ ¯õøÁ? 

12. (a) Distinguish between sale and hire purchase. 

   ÂØ£øÚ ©ØÖ® uÁøn öPõÒ•uÀ – ÷ÁÖ£kzxP. 

Or 

 (b) What are the characteristics of hire purchase 
financing? 

   uÁøn öPõÒ•uÀ {v°ß Snõv\¯[PÒ ¯õx? 
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13. (a) What are the advantages of mutual funds to an 
investor? 

   £μì£μ {v°ß ‰»® •u½mhõÍº ö£Ö® |ßø©PÒ 

¯õøÁ? 

Or 

 (b) What are the tax benefits available to mutual funds 
in India? 

   C¢v¯õÂÀ £μì£μ {vUS QøhUP¨ö£Ö® Á› 

\¾øPPÒ ¯õøÁ? 

14. (a) State the functions of venture capital. 

   xoPμ •u½miß £oPøÍU TÖP. 

Or 

 (b) Give an account of various types of consumer loans. 

   ~Pº÷Áõº PhßPÎß £À÷ÁÖ ÁøPPøÍ _¸[PU TÖP. 

15. (a) State the salient features of credit rating services. 

   Phß ©v¨¥mka ÷\øÁ°ß ]Ó¨¤¯À¦PøÍU TÖP. 

Or 

 (b) What are the functions performed by merchant 
bankers? 

   ÁoP Á[Q¯º BØÖ® £oPÒ ¯õøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Briefly explain the various financial services available in 
India. 

C¢v¯õÂÀ EÒÍ £À÷ÁÖ {v ÷\øÁPøÍ _¸UP©õP 

ÂÁ›UP. 



A–8653 

  

   4

Ws8

17. Discuss the merits and demerits of leasing. 

 SzuøP°ß {øÓ SøÓPøÍ ÂÁõvUP. 

18. Briefly explain various mutual fund schemes launched in 
India. 

C¢v¯õÂÀ {ÖÁ¨£mh £À÷ÁÖ £μì£μ {v vmh[PøÍ 

_¸UP©õP ÂÁ›UP. 

19. Briefly explain different types of factoring. 

 uμS ÁoPzvß £À÷ÁÖ ÁøPPøÍ _¸UP©õP ÂÁ›UP. 

20. Describe the services rendered by merchant bankers in 
capital market. 

ÁoP Á[Q¯º ‰»uÚ \¢øu°À BØÖ® ÷\øÁPøÍ 

ÂÁ›UP. 
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